Tiuec omitiwv



llopaoeryuo. 10.7:

log(Enevovoeic Zritia) = -.550 + 1.241xlog(Twuéc 2ritia)
(.043) (.382)

HITA: 1947-°88, n = 42, R?=0.208, R2=0.189

log(Enevovoeic Zmitia) = .0081xt

(:0018) [IpoPAnuatika
log(Tiuéc 2mitio) = .0044 %t (Avtoovoyétion)
(.0004)

> Yrdapyovv TacEIg



log(Enevovoeic Zritia) = -.913 — .381xlog(Tiuec 2Zmitia)
(.136) (.679)

+.0098xt
(.0035)
n =42, R*=.341
* Tiuec aonuavteg

« Enevévoeic 1 1%/étoc



log(Enevovoeic Zritia) = -.913 — .381xlog(Tiuec 2Zmitia)
(.136) (.679)

+.0098xt
(.0035)

n=42, R*=.341

Av ouwmc opoipecove TV TO.ON TPLV THY TOALVOPOUNOT

(10.10): log(Emevovoeic 2ritia ue APAIPEMENH toon)
=p0+p1xlog(Tiuec 2mitia) +.2%t

—> R?2=.08



